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Question
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Question
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Qgestion 100602
ID:
Question
Type: MCQ
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Question: < +3
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Question
D 100603
Question
Type: MCQ
—> M MM 2 A FAN AN — M MANA
Q@A q=(1+8)i+(1—-t)j+k, b=(1-)i+1+t)j+2k T c=ti—tj+k teR (STAR
Question:
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Question
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Question
Type: MCQ
Question: AfSrETs farReiel R Fera T s F64, cos ~1(x) — 2sin ~1(x) = cos ~ 1(2x) AT E4H1
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Question
D- 100605
Question
Type: MCQ
Question: | *r&E e afel Gl 21 T (prg)o(p @ ~q) GOl AFEHE 2, (0T (x, ) TSR
73—
A: (V, A)
B: (V, V)
C: (A, A)
D: (A, V)
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Question
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Question
Type: MCQ
@A 5 <5l (IR TN | 41T b T GBI (TF A0S 2TSF (x, ) € R x R-{(0, 0)} I3
Question: by g
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Question
Type: MCQ
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Question
Type: MCQ
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Question
Type: MCQ
Question: af -1*"2 =2y -3 Ifd JEI PO Q & 7o ERIReaa RIS R(0, 1) i'il?ili\a (&Y (S, (O(F POR [€gS R
Afrses 29 ¢
A (0, 1)
B: (2, — 1)
c: 6, 3)
D: 2, 1)
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Question
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Question
Type: MCQ
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QA x2+ 1P —x+2y = 7 I8 7% C e TR esFe P 9ol T | C @ @[l @St
Question:
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8
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8
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Question
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Question
Type: MCQ
01 0

e A=|0 0 1| 9% By=A%+2A% GIEr v0l (1R 41 | W HHeel n > 1 7 AT,

Question:
1 0 0

B, =Adj(B,, _{), (9T det(B,) =« Tq
A: 328
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Question
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Question
Type: MCQ

1
. q@za S1 =121 € Ct |21 =3 = (W& Sy = {zp € C: |23 — |2+ U =22 + |22— 1]} | cotm

Question: 2
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A: 0
B: 1
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Questi
Do 100616
Questi
T;Ipees on MCQ
Question: | XT3y 2 =6 MG 22 +12=1, 2 = 0 J&I SRS 4 b1 R #1177 AMRT, T CFAD!
| qwq e 2ife e
A: (6x+5y—12)2+4(3x+7y—8)2=1, z=6—2x — 3y
B: (5x + 6y —12)2+4(3x +5y—9)2=1, z=6—2x — 3y
C: (6x +5y—14)2+9(3x + 5y —7)2=1, z=6—2x — 3y
D: (5x + 6y —14)2+9(3x + 7y —8)2=1, z=6—2x — 3y
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Question ID: | 100617
Questi
T;pees on MCQ
. 5x2
Question: | f(x) = > —+5, x > 0 FAGR TR T 14 T0T @ T T 5K 27
X
A: 32
B: 64
C: 128
D: 256
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Question
Type: MCQ

QR o, B O y (D! &ae A% AT | 47 277 fix) = ax® +Br® +yx, x € R ¥ g : R-R
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Question
D- 100619
Question
Type: MCQ

al, 32, 33, aas 515]3155113 cemat ?{_,ﬂ 09 al = 1, a2 =2 9% dp42 = - +a1‘l: n= ]—r 2: 3: e | W:

n
Question: ag +i a2+i a3+l fing +i
a a a a 61
T 2 |. 2. L L1 =2(81Cy ) | o I A 2
asz ay as asn

A: — 30
B: —31
C: — 60
D: — 61
Topic: Mathematics-Section A
Iltem No: 20
Question ID: | 100620
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Question
D- 100621
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Question
D- 100622
?ue§tion Numeric Answer
ype:
56 43 111
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Question
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$@1Z'5 (0, 1)© f: [0, 1] — R <51 faosaiaiz e 1T f(0) =390 f(1) =5 177 (0, 1) © 4 79
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V3 3
15x
Question: | T q, B 12l AL S I = dx—owli_lﬂfmﬁ 2, (STF o + P AN EF
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Question ID: | 100625
_?;pe;tion Numeric Answer
-Azl_l B:Bl - ﬁm. 2_,2,02 2 o
Question: 2 o W 1 0 s QL B e R. W ﬂ.amﬂ Q1 ¥ (A"‘B) =A“+ 2 2 <P
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Question
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Ques.tion Numeric Answer
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p, e RIAME@ fix) = (x—p)2—q, x € R, q > 0 45! B el (TR 247 | 4925 ay, ay a3 AP a,
Question: | I 2lfCC W A HILRE TG GHIGF O &g p | I |f(a;)|=500, F=eami=1,2,3,4 3
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Question ID: 100627
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(2) E9IR H3I AR ~HF 2 y = S ¥t K @
(ST 4(a>+b?) I 7] |
Topic: Mathematics-Section B
Item No: 28
Question
D 100628
?ues.tion Numeric Answer
ype:
1
AR Xy, Xy, Xg, ooy Xpy BTG NOT TR T© ¥, = 3 I AKF S 2[© > | AfeTo! ¥, 9
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HARRTS (x, — i)2 TLNL GBI TG O] 5157 91 T2 | AW TG O TG 5 T, (STF 5 I I A 7%
5 F® T WA T'F |
Topic: Mathematics-Section B
Iltem No: 29
Question ID: |100629
?ues.tion Numeric Answer
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Question: .| (x+2cos x)S +2(x+2cos x)2 +3sin(x+2cosx) | *
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Question
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Question .
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Question ID:
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Question Type: | MCQ

Bz
INA 28
Question: Ko
@ py = TG E= Aol OiF B = (GIfHS (%)
A: [M L2 T—2]
B: [M LT 2
C: [ML-1T- 2]
D: [M MI2T 2A- 1
Topic: Physics-Section A
Item No: 32
Question | 190632
Questi
T;Ipees: on MCQ
T SRS G5 19.6 m T IF THOIS bl I 2 SNTZ S<6 H2CE1#119 ©e70 9 km/h T 77
Question: wford «F NCC (5FC 5t =itz | fraie o FidS =5, qv—roied «bf S oeita (o e |
HESTO | o TeTE (7% SICH! SR A SIS (O WS S +id Ay 23,
(il =iitg, g=9.8 m/s?)

A: 5m
B: 10 m
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Question 100633
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Question

Type: MCQ
751 52T 29IIS, 25 ms— | Hiora 71T S 21 5 kg 1 G5! TG 744 #J20S QTS Ll AT SN
Question: | TFCH (i) 3 (TP (ii) 5 (WA fooTs faa 21|
IR A1 A [E! Ee 4 ¢
A WA CFAre TRHR ¢oe &l 31 dfodre oI 5% 5 GF2 23 |
B: TRICHACS ATCHe (e 23 8 91T J9 72F 23 |
c: TRAICFES A 9T 36 e 79 frg eifedrs vjoe 29|
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Question | 400634
Questi
T;Jpees: on MCQ
_ 5! (R AFS ©F 10 g 14.5 cm/ s (I GF 7T TS (@GO 231 AP €2 AW |1 TMZ 55
Question: .
(RRFCH! 2T (b 4, (ST (FEFioe [l S 26 9% 941 29, (dyne GFF©)
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Item No: 35
Question | 400635
Questi
T}llJpeeS: on MCQ
Question: | =fit sjf2 TR kT 2% Fe 27 @foR @ TR ©1 W2 A, TR e TpRas g1,
A: 2% M ]
B: 4% ZHA AR




c: 2% i@ 71K
D: 4% & A=
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Question ID: | 100636
Question
Type: MCQ
vt 1 cm? %PTE FIeE GUE $RE 09 el I AR SRCE SRR e 96 24,
uestion: ‘
(et =iitR, SewmE 26T @4E Y =2x 101 N/m?)
A: 1x107 N
B: 1.5x107 N
C: 2x107 N
D: 25x107 N
Topic: Physics-Section A
Item No: 37
Question
D- 100637
Question
Type: MCQ
Question: | 40! 1B e 50% wFel Wtz | 7fCz Fo TSl 40°C 2P 41 2, 29K WSl 30% Jfa #ArH |
TR Gaeel 29 ¢
A: 166.7 K
B: 2051 . K
C: 266.7 K
D: 367.7 K
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Question 100638
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Type: McQ
TS 5! e WMl SR ¢
e 1: ] (5% G TS GBI SO 9T SR TSR GHAS e B |
Question: | BTG I1: @bl (912 SRS TP 9T 91Te TS 0| W Tl gad I 20 ONF ST
EPTE ST Siqefta] [afew 27, 51T 39fe Wi 20 T |
THTAIG Y2 CI&d AP, ToTo Wl RFsPTERa #1@] ©% CEas! 53+ 341 8
A T 1 9% O 11 iR A6 |
B: Tfe 1 9= U 1 9eaibi2 Wy |
C: i@ 195! [ ©fe 11 g |
D: Tfe 1 gl fog T 11 775 |
Topic: Physics-Section A
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Question ID: 100639

Question Type: | MCQ

. . 27
Question: y =05 sin== (400 t — x) m GHLS] AN FIBTS SRR @9 T,
A: 200 ]I'I/S
B: 2002 m/s
C: 400 m/s
D: 4002 m/s
Topic: Physics-Section A
Item No: 40
Question
D: 100640
Question
Type: MCQ
GBI 4P 40 WF I 0! 48 (HTRTSICR A 91 (207 | G5! 477 e S| #_iamies
Question: | g% K I «F Ao Awif@ 7} Tt 241 A0S IRZIC1F FAGeT «I9FT 24 wF 0ot | K I IH

23,




A 1.5

B: 25

C: 1.2

D: 3
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Item No: 41

Question

D- 100641

Question

Type: MCQ

Question: | K1 eI I OfF Bl 25 AT 20[ (7 &[S (i v it 3 <117 | e @ierols dRfes
@LFORF (IS TS T,

A 9:1

B: 1 &9

C: 4:1

D: 3:1
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Question ID: 100642

Question Type: | MCQ

GGl (SIFCSATGIRR #91g A eTel g e i1,
(A) AR A2 T R |
(B) % (g e 3|

Question: (C) W@%W@ﬁ|
(D) freigeER Ghee (996) &7 g 3 |
woTe el Resza #[1 19 & TEao! b 41 2
A: @3 BIE C
B: @3 C oI D
c: @ A WF C
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Topic: Physics-Section A
Item No: 43
Question
D: 100643
Question
Type: MCQ
foT® Myl 4=Tel, ST IO 45° (Fe B LB G TP (Zo 11 TS (AT T 0.45 kg
m-1is T U (19T WS WTSRRFSIE #[ Wiez | (@ 0.15 T 3 (bIEF (Fag NET[ETS THelE
Ty Tl IR A, wese [Faerd 3 arey e 2]iEe Feew #7E 249,
Question: | (§=10m/ 5% = 1)
Bt Al
45° 11
A: 30 A
B: 15 A
C: 10 A
D: 3 A
Topic: Physics-Section A
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Question
D: 100644
Question
Type: MCQ
5! T SN TOATS 2QAIZd TNFRE 2T, 5 sin(49 wt— 30°) | TWCE SE1F 30 mH 27, (0T
_ RO FEAEEE Wier [Fedq Al 79 29,
Question:
{EHT ™= 2}
7
A 1.47 sin(49 wt—30°)
B: 1.47 sin(49 wt +60°)
c: 23.1 sin(49 wt—30°)




D: 23.1 sin(49 wt+60°)
Topic: Physics-Section A
Iltem No: 45
Question ID: | 100645
Question
Type: MCQ
f5a® (F9at «a0el, T S IMCEH A (ZRR AGS, T 3T (71779 @ 0, T3,
(1l =M% c=3%x 108 ms-1)
Question: Air [Medium 1 |Medium 2
“-'1' = 1 ”‘1‘ =
=4 €.=9
C Vq Vo
A: 1.0x10% ms-1
B: 0.5x10% ms-1
C: 15x10% ms-1
D: 3.0x10% ms-1
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Question
D 100646
Question
Type: MCQ
Question: | TETEl TS, <1 sifeias G 793, Sifeer Sfer=as W™ 1@y 30 cm | (@A (GRTF #IbE
i wlfeaze 2 23 wfcerwe aife v 29 ¢
A: 20 cm
B: 30 cm
C: 10 cm
D: 15 cm
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Question

D- 100647
Question
Type: MCQ
= L227 A eeICH! Bl B I SResd el SiRee i aeai o Al | @2
X
FTIFIEOS x 2T,

Question: | 39 m =20 Eﬂa o

P=3051371 35!

K =3%(#1g74 sifexife

V = volts GF© 2(e1F79 T e
A VmK
B: JIS
C: JK
D: sl N
Topic: Physics-Section A
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Question
D 100648
Question
Type: MCQ

. . 7

Question: | 5| (wEf~z= maﬁmgeo%uiwm’ﬁ@aswgwwﬁaﬁmwmmmﬁ
A 120 =
B: 130 =
C: 180 e
D: 20 M=
Topic: Physics-Section A
Item No: 49
Question ID: 100649

Question Type: | MCQ




Question: o1 RegTes 7, CTIRGSIRE (AR foare @

I
A:

v .
I‘

B: J i’

I
C:

Y
I F'y
D: < / :
( \

Topic: Physics-Section A
Item No: 50
Question ID: | 100650
Question
Type: MCQ
Question: | Awiq Fewa (wa, KF© ifvzis wfaas i@ o0 ps () 29 #0091 2
A L= 34
B: =1
C: =2
D: = 0
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Question

D 100651

1Q_ue§tion Numeric Answer

ype:
. M A M M N M

Question: | qMTZ j + 2 + ok I'S7[C 27 +4j — 2k T 2UTHY =7 2T, (ST o T AT TS

Topic: Physics-Section B
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Question

D- 100652

Ques.tion Numeric Answer

Type:
Wiy 2 9951 30 TIfFGa Bt Tgeite (TR Tl (TG 2@ SIS TR TS 64 @

Question: | Giged/2iieTd fafeae Wl etz | Freew fTam Tes 7ige TSMHR (P10 JRAEFoSE SN FII0!
WEI7[ 77, 71 29 951 |
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Question

D 100653

Que§tion Numeric Answer

Type:
263 Tafew 2[5, 560 nm I GBI (FISE (AR TFF Goga i6d I 7.2 mm3 (IS «F

Question: | IS BT % Fa02 | afoT FirE Tega #1567 A4 8.1 mm T (FITS «F FANFIA B
1% Fe9a A @ e (g I92T 41 (2% | ST (oAIZas ™ waRaind 23 nm|
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Question

D 100654

Question .

Type: Numeric Answer

Quest <51 (¥TH% LCR T8TS mﬁmmmﬁ@ﬁ@mﬁiﬂm% @l Tl BT 2 212 rad s !

uestion:

i< 232 rad s~ ! | GG (@IEF T R=5 ) | TSAIGIE FINEGEF 7 mH.
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Item No: 55
Question
D: 100655
Ques.tion Numeric Answer
Type:
foT® (FYeal €@d, (s 300 em SIS (J14 20 27 95t 2B HaTHRE S bl @ie< 1% (R.B.) O1%
951 4 V Rye 5515 9619 T (@R (P00 AL T4 (202 | TS 0TS (@4 IFZHE #41 3 @6l
@l% ‘R’ 7@ 2'3, 20 mV I €61 (FRE A 761 79 60 cm (-1 (9IT8 | ‘R’ T W Q.
4V R
Question: | —6—{RB]
A B
@
20 mV
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D: 100656
?ues.tion Numeric Answer
ype:
Rt e 1.2 1030 Cm S 2.4 % 10-30 Cm F 95! ([@pied BreeEs @0 5 x 104 NC-1 =i
Question: | 15X 104 NC -1 x(f&= 757 7} 77 e cvere 321 0202 | (Rpfess fatsrs G012 wepe 1 Acos
5 ST 29 Lixaamam |
%
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Question
D: 100657
?ues.tion Numeric Answer
ype:
Tt 320 Hz 1< 72 I0a[ @2 G2 96! AR[T el 36 km/hr @61 9ife [0z, 39
Question: | 7@l (G%A GIFRFES <l dfem & “iErg, dfomm F=FiE 29 Hz |
RO *¥9 (91 330 m /s |
Topic: Physics-Section B
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ID:

100658

Question .
Type: Numeric Answer
AASFCO 2 mm F A YT 7 01, 1750 kg m~3 TI9q IF ¥q9 TSI 0.35 cms— ! 2@
Question: | f¥eita @sidtal T wiferz | wa(BR Alme! 20T 27 poise, SIPESIA | (AT TG
957
Topic: Physics-Section B
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Question
D- 100659
Question .
Type: Numeric Answer
E oif¢ =fera oife F@ 93 ‘m’ ©59 3= o2 (bae @yl wque) @fea 2R @9l wrial 41 23,
e ees 25 cm 7aY R 7B FE I n= T A TS AT et g1
Z9nENm!|
Question:
—E
m
Smooth surface
Topic: Physics-Section B
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Question
D- 100660
Question

Type:
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AfOUTR ' M OIS ‘a’ P BRI AR Grag A5 oae e edt 1re 941 2ozl Mz 00!
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TO
Question:
10
Topic: Chemistry-Section A
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Question ID: | 100661
Questi
T;pe; ion MCQ
Question: | Tl #[ wrwm Tfetn! Aife Shieat ¢
A Felrarm pIiRewiE 4 b JEIFR e TS B! TEFRG IE, OF 399 FFAY I (@
27|
B: <5} TS, B! T 2 5] 2ERG 2 1] T () |
c: T TS Y ZRG T <1< i AL 1 27 |
D: AT T2 LT (FIRITN ] n O 1 (G 3971 9] 23 |
Topic: Chemistry-Section A
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Question ID: | 100662

Question Type: | MCQ

Question:

fasfEle @EEG T9F wE 9297




A: AH = AU—-PAV

B: AU = q+w

C: z’_\.S oo f_\.Ssu” 0

D: A= AH-TAS

Topic: Chemistry-Section A

Item No: 63

Question | 190663

Question

Queston | ycq
wiferet 13 Oifet 113 oice ow <4t ¢

wiferst 1 wifersl 11

(A) Cd(s) + 2Ni(OH)3(s) = CdO(s) + 2Ni(OH),(s) + HoO(l) (I) =iz @oif
(B) Zn(Hg) + HgO(s) — ZnO(s) + Hg(l) (1) cxaefE @GR

Question: P 4l
(C)  2PbSOy4(s) + 2H,O(l) — Pb(s) + PbO,(s) + 2H,S0,(aq) (M) & 1T
(D) 2H,(g) + O5(g) = 2H,O()) (IV) (el @i A

41

faERe TegeE va Teg aifz Theal ¢

A (A) - (@), (B) - (1), (©) - (L), (D) - (IV)

B: (A) - (IV), (B) - (I), (C) - (1I), (D) - (III)

C: (A) - (1), (B) - @), (©) - IV), (D) - (1)

D: (A) - (1), (B) - (1), (©) - (I1I), (D) - (IV)

Topic: Chemistry-Section A
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Question ID: | 100664

Question MCQ

Type:




wiferrl 19 @il 119 e fiew <4t ¢

wifersl 1 e 11
fafemt SRJE0F
(A) 4NHj(g) + 50,(g) = 4NO(g) + 6HO(g) () NO(g)
Question: (B) Na(g) + 3H>(g) — 2NH;3(g) (IT)  H,50,4(1)
(C)  CipH»Oqy(aq) + HyO() — CeH1p06 + CgH 1204 (L) Pt(s)
PEe] T3G
(D)  250,(g) + O2(g) = 2505(g) ) (IV) Fe(s)
e Toesem va Tes qifz Tied
A (A) - (1), (B) - (11, (©) - (1), (D) - (IV)
B: (A) - (1), (B) - (1I), (C) - (1), (D) - (IV)
C: (A) - (1), (B) - (IV), (©) - (1), (D) - ()
D: (A) - (1), (B) - (1I), (C) - (IV), (D) - ()
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Question ID: | 100665
_(I?;pe;tion MCQ
fsfEfe WG @Fs, [ @R GTAEEE 2Eres 220 GmeEfl 9bal-esl At am—
(A) Rb9I< Cs
_ (B) Na®l= K
Question:
(C) Ar i< Kr
(D) 19« At
fffre TesRer wa Tes 3ifs Shea 3
A (A) &I (B) WY
B: (B) = (C) W@
c: (A) 9= (C) TG




D: (C) =1 (D) W@
Topic: Chemistry-Section A
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Question ID: 100666

Question Type: | MCQ

Question: o] JfEFa Fwem smfors oises b0 I T ¢
A: 2(:1128 + 302 %2(:1120 + 2802

B: Fe;O, + CO — 3FeO + CO,

c: Al,O3 + 2NaOH + 3H,0O — 2Na[Al(OH),]

D: Al,O53 + 6Mg — 6MgO + 4Al
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Question ID: 100667

Question Type: | MCQ

Question: FIFT 2ETOT o AT (e RO T (241 49T 7139 Te—
A Ca(OH), =II% Mg(OH),

B: CaCO, O Mg(OH),

c: Ca(OH), ¥IIF MgCO,

D: CaCO, &IiF MgCO,
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Question ID: 100668

Question Type: | MCQ

Question:

fasffie @RER Tfe siva

A:

LiF 3 7 ® T% WRTROR FE9 5 379 I GeAiers GoLiei= |




B: KO, 251 SRy %A |
c: ZCANE ¥4 O6 NS SARAE] 2o |
D: G 9] 99 “{BIe e (@R |
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Question Type: | MCQ
wiferas 12 ©iferel 113 (1ce e =4 ¢

Ao Rigare e @Rt (g 715ie Wew <41 |

wiferrl I wifersl 11

(A) (NH,),Cr,0, —2 O H,

M B) KMnOy + HC o I N,
(C) Al+ NaOH + H,O — (my o,
(D) NaNOz —2— ) d,
fasfEfie Remme@ 9% Tes aife Theat ¢

A (A) - D), (B) - (1), (C) - (), (D) - (IV)

B: (A) - (), (B) - (1), (C) - (IV), (D) - (L)

c: (A) - (D), (B) - (IV), (©) - (), (D) - (1)

D: (A) - (), (B) - (IV), (©) - (I), (D) - (1)
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Question ID: 100670

Question Type: | MCQ

Question:
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A: Cu
B: Mn
C: N1
D: n
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Questi
T;pe:: ion MCQ
GeTe 1ol ©fe 2% ¢
e TE1: e wiNTe, waree WRNEH Wik BOD YA Wi 32 39 |
uestion:
TGEI: WIoS SRS S 0 9 SIios @ 23 |
G7[7q Ties wieTe, Maiiie Resmral v Tes aife Thened ¢
A U@ 1 91% Of@ 11 9612 79 |
B: T 1 9% S& 11 fiGIE ST |
c: e 179 g Tfe 11 9P |
D: Tf@ 1 3rTe) @8 e 11979 |
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OifeTel 1 Siferet 11

(A) Q () e
o ® ><]>< () @S @l

() :N: () = G
(D) @ (IV) faberr (e

f=fle feee i 97 Tes aife Tfeeat ¢
A (A) - (D, (B) - (1), (©) - IV), (D) - (1)
B: (A) - (IV), (B) - (I1D), (C) - (I), (D) - (1)
C: (A) - (), (B) - (IV), (©) - (1), (D) - ()
D: (A) - (IV), (B) - (I1D), (©) - (1I), (D) - (I)
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Question Type: | MCQ

faafEe GEaReie v Gog it Teed ¢
e (OAC)
Question: BH Hg 0OAc¢),, H,O
B0 = H,C-C-CH=CH, 22 LA
H,0,/0H | NaBH,

CH,




A ‘A’ % ‘B AR WF FES (JSwe SToud |
B: ‘A TE IR AR Tewd Ok (B 2 Afewis Ree arewd |
c: ‘A 9IIE ‘B’ qAIGIE @fe WRE TS Giew |
D: B T N S i ‘A’ 3 Afen e srens |
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Question Type: | MCQ
Question: | fawferies fowas @MU (@19 bfere a1 &bt 7" pK, T (r3ar |

H
A:

H,C— COOH

H O

B: |l
H
C
C: HS
O

D:

O/% -~
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Question ID:

100675

Question Type:

MCQ

mmmmmwmAWBWWz

1) CH CHCH , AIC1
8 0, s NayCr,0,/H;0,
Question: @ » P >
(3)H , H,O
Br, in CS,
® ®
OH
A: @ and
Br
OH
B: # and

Br




0 OH
Br Br

c and

O Br

OH

OH By 5

D:
and
Br
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Questi
: ;Jpe;tlon McQ
s eve siffaead @ w7 Tien! e 41|
Question: C2H50Na
" | CHy~CH,-CH,-CH-CH;—————> A _+ B
| GH;OH  (ypz5)  (Tofi)
ON(CH,),

A A - CH,CH,CH=CH —-CH,, B - CH,CH,CH,CH = CH,, Z0(TF &ICu]

A - CH,CH,CH=CH-CH,, B - CH,CH,CH,CH = CH,, ¥ &eusj




C: A - CH,CH,CH,CH =CH,, B - CH;CH,CH = CHCH,, (3 o]
D: A - CH,CH,CH,CH =CH,, B - CH,CH,CH = CHCH,, RG(&% Seudy
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Question ID: 100677

Question Type: | MCQ

Question: (ORI I T reawTadl (ol T |

A -1, 2- TRYE WF @ERA-1, 3 SRR  ze
B: ATH-1, 2-TITTE S (-1, 4 TiEFHEHTT e
c: -1, 2-TETE IS (@HEN-1, 4 TR 9z
D: -1, 2-TfEE WF (@EW-1, 2 TERFEREEE s
Topic: Chemistry-Section A

Item No: 78

Question ID: 100678

Question Type: | MCQ

Question:

o owe pare NafEBe (X) T AE 97 AT TS 510w 2—




i
®
|

OH
A: OH
HO |
OH
HO =i
OH
B: OH
HO |
OH
HO ]
C: OH >
HO | OH
OH
HO =
HO OH
D: OH
OH
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Question Type:
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Question:

GRS TR S A TSGR ToTe el 2 ¢

(A) dfsrifierrs oiF oo el 834 Sz |
(B) PRI AT IH AT & (BRST FO @feTe T3 7l |
(C) aferifieiFEe STz U& (BRF TS SE 1 834 |
(D) wEferafiorEs @amE Ae T SRRl 34t €34 |
i Reeasa wibiReE T7 e Tears! alfe e ¢

A: (A), (D) e

B: (A), (C) ‘iﬂ@

c: (A), (B) g

D: (A), (B), (C) W
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_?;pe;tion MCQ
SIACIRE w7 H,0, I #9S (FoiE Teels (2l [ sfefesm s aiEa—
(A) T THIF I BE 71 921 Al |
(B) WA BfCAN U LECEG 429 vl KI Taeis 3 = |

Question: | (C) SIFTI F79 INH (ZRIE B #ifzrs Toaih! ofeies I |
(D) et 7= e (2R 5 teits et sifFeee s |
(E) MI¥ Sl AReFCHs a9 5ivw] KI @ aeca (A Jif<al |
e Roageq o5 Teq Az Tiedl

A: (A), (B), (C) g

B: (A), (D), (E) 1@

C: (D), (E) W&

D: (A), (B), (E) W&
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Question

D- 100681

1Q_ue§tion Numeric Answer

ype:

e A,

Question: & E YT SN
X [ Y T A0SR 9% 101 0.05 mol Z I 715 AT (151 XYZ, | XYZ3 TeAme 2o gl
(et itz 2 siewelfas ©1 X, Y o€ Z 9 2'e A 10, 20 9% 30 amu) (FHGET S14e 3247
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Question

D- 100682

?ues.tion Numeric Answer

ype:

€51 (T M 9, 300 pm Wife (4R @B bee (T T 1T GFF (TS “IH(0P (649 T | (0N

Question: | T T& 6.0 g e~ 3| (TEIOR 180 g © AT 2T 2T} 2 x108| (Wabed
G FHLT)
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Question ID: 100683

Question Type: | Numeric Answer

fsfiies fooge Smpaar Aeifor w2l 2=

Question:
: W o an

Bz_, le,Cz,Cz ,02 ;02 W H82
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Question
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Question

Type:

Numeric Answer




150 g Gzib< @few 10.2 g 9=l GfRretE (CH0,) 7 a1 27 ACe 2R 2wl o =

Question: | (xX10~V)CIxITETA_ | (FF00T 14 74
[t =TTz ¢ K = 3.9 K kg mol ~; @z «f2@ 3@19 €4 = 176 g mol ]
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Question
D- 100685
%Jpees:tion Numeric Answer
faebizfas ufgws (C;H,COOH) K, 2 2x 10~ 5| fAThizfes «fges 02 M w@ pH 2'#
Question: x107 1| (Rebew w4 7124)
[frart =1tz ¢ log 2 = 0.30]
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Question
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?ues.tion Numeric Answer
ype:
TG Y2 TFd [IEE A
. A—B
Question: P
RfFaeR o1 Siaweie 0.3010 min | RiFass 4REF ST W% 2.0 min ANER TS SR
AT T |
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Ques.tion Numeric Answer
Type:
vt faafEfessmt qofim FRIEeE 9om 9 SrwEere=s A T8
uestion:
CIF,, IF,, BrF;, BrF,, L,Cl,, IF,, CIF, CIF,
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Question

Numeric Answer

Type:
MnO3~ 3 SIIfEHE TS SPRg [iere Term 23 vl Gwifae Tl A o B | I Mn I @i=el
Question: | =gl B'®, A ©(F T, (S0 B I Y9 TT pFF R A4 () 6 BM© 2 | (Foe
TG AT
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Question
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?ues.tion Numeric Answer
ype:
Question. | TEFTER 63 Cu(en),(SCN), T A THARFFOE (3f JFEa AT 87 Fcel 2
______ |
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Question
D- 100690
?ues.tion Numeric Answer
ype:
Question: | 0492 8 3 41 Te (@l T® C, H ©F O WIITE, ©fF 779 weTs Teok 2F 0.7938 g CO, oI

0.4428 g H,O | GIHICH® SEICees % AYRS 2= |




